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PART - A
Aqrod - o

Answerallquestions. Each question carries 1 mark.

oera dsderl erudoxr. d..9 dsriuoab erodrl$o.etJ4 3 J )q

1. Copernicus is well known for his contribution in the field of

sN - 714

(1x40=40)

a) Biology

c) Mathematics

a) dedm{

c) ddd

2, The discovery of 'Cape of Good Hope' goes to

a) Columbus

c) Vagellan

'Eed sryr rbcscdoed' A$dd u{edd

a) doooz^lxi"

c) ddmo"

d,oed0rdxn * EJ9d* &ead dodrrieocron {,tr{annen;S.

b) Physics

d) Social Science

b) zPdai

d) dd>a Azrc d
'q'

b) Vespucci

d) Bartolomeu Dias

b) ds"d,x

d) zmardo,Cr, do3:xn

b) Lead

d) Silicon

3. Nanoparticles of which substance were found on the surface of the sword of

Tipu Sultan ?

a) Gold

c) Carbon

b) xred

d) tuorJs

u:Q, ioqdd $d..d d>emlide| dod:u&d qdoedea c$ad dipaOooand ?

a) dq

c) .aorner

SPACE FOR ROUGH WORK

A
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The size of nanoparticles is between

a) 100 to 1000

c) 1 to 100

b) 0.1 to 10

d) 0.01 to 1

b) 0.1 ood10

d) 0.01 oodl

b) Geometry

d) Abacus

b) mruuf

d) scDd:f

b) Chemistry

d) Mathematics

b) tuo$da"t
d) rlsdd

b) Simulated emission

d) Both b) and c)

b) w$exd aiard
d) b) d>$ c) add,o

4-

nm.4.

Illlililttililtilililililrilltlllt

a)

c)

oe"doedsodd nad,dt nm eshd.
?)J

100 0od1000

1 0od100

5. Main branch of mathematics is

a) Algebra

c) Statistics

dsddd d>$, uoaJ

a) uerdug

c) doana{

6. Which is the base of scientific development ?

a) Physics

c) Engineering

d,re-pd dddsdrlri d:oe,: ol:Dd& ?eJ "A.

a) zpdm{

c) aod0oJ:oonr

7. Principle of laser is

a) Spontaneous absorption

c) lnduced emission

eJeiod ddo

a) pddrd bed:aE

c) {edead aizgrd

SPACE FOR ROUGH WORK
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Laser is the short form of

a) light absorption stimulated emission of radiation

b) light amplication by stimulated emission of radiation

c) light amplication stimulated emission of rays

d) light adsorption stimulated rays

seid a$drd:.add ioEe ao#
ctV

a) eJedo uzmldgo" xld>rdedcf a.Ddor up deao3:edaf

b) el,r[,tr erdo&dedor {, Adr.gr$ae aa:dor eJQ" deao3Jeds'

c) e5ro,f eldo&dedo" ld>"deuia" aa:do' u4r des"

d) el,rttr eraal{ro" ld:-ieJe$a' desr

sN - 714

9. OFC stands for

a) Optical Fibre Cables

c) Optical Forged Cables

t^r">iJ{R aodd

a) uagler q?ror *eaxl

c) u.:gler dBe#J Eeaxl

a) CFL

c) LED

b) Optic Forced Cables

d) Optical Fibre Can

b) u.Xr dpeqaf deaxl

d) u.1der {,,ro Drd

b) LcD

d) LPG

10. The most energy eff icient and environment safe source of light is

a)

c)

b) aeftua

Q aef.ld

udrod domaubae d:Q dodd flrd{do$dldoood LJdsd d:oe.r

Xraqfaef

aef.aA

SPACE FOR ROUGH WORK
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a)1 b)2
c)3 d)4
rc oS oar qAg -fu_eff _ drdrod/ abdnddddl d,oo6d.
a) 1 qz
c)3 d)4

12. The resolving powerof unaided human eye is

a) loopm b) looo*m
c) 1o*m d) 1pm

13. Photograph which is taken from microscope is known as

d&dddlod*n i.b&siDd ab&qd Dods*d dg

a) 100 rm
c) 10 pm

a) macrograph

c) micrograph

a) *adAgellw"

c) $rdgeBF"

a) fusion reaction

c) radioactivity

dgo3r
a) dooloerd goSc

c) dddnrar CIEdeo

b) 1000 rm
d)lrm

b) monograph

d) pictograph

b) fission reaction

d) transmutation

dofuddrda od drid SrD o$r?igd$4dr oee deqJeD fl d
b) doed;arBF"

d) dr{geryqf

14. Process in which two light nucleicombine to form a heavy nucleus is called

add: deo dddnrarrldc doqloexdrlood; aodr pd;od ddcnca:ddl eruoot'i:dEO - 4---o)

b) edddEob

d) dddrDrat dnord:af
SPACE FOR ROUGH WORK

A
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15. Genetic improvements in which two crops form the basis of the Green

Revolution

a) Corn and rice

b) Wheat and com

c) Wheat and rice

d) Wheat and sorghum

a) dq dDCC dq 
"s-

b) ,rffO S* d#, doed

c) troQ S* "tq ,f6G0 d*t draed

16. The nearly perfect source of energy is

-7- sN - 714

a) coal

c) petrol

17.

b) {frnrd erCIe;

d) Eao'

b) Virus

d) Animal

b) {dE"
d) aDrd

#.cd doaaad:rooo$Dd dso$ droe.:
a-o

a) dOder>, ato

c) duigee,

DNA is not a genetic material in

a) Human

c) Plant

a) ab&d

c) 4

&)fa aoz.pdr€8 ddnd o1>DdddO- de;od>1 ue.:-

b) naturalgas

d) tar

SPACE FOR ROUGH WORK

A
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18. DNA stands for

a) Disaccharide Nucleic Acid

b) Diphenyl Nucleic Acid

c) Diribose NuclearAcid

d) Deoxyribose Nucleic Acid

aoora(DNA) aodd

a) Disachharide Nucleic Acid

b) Diphenyl Nucleic Acid

c) Diribose Nuclear Acid

d) Deoxyribose Nucleic Acid

The objectives of experiments include

a) testing hypothesis

b) forsupporting and negating theory

c) forgathering about natural phenomenon

d) allthe above

$Coeddd **ddr
a) do.,d,t oapdddldoeg$dt emnd

b) t o& d*d doue.:aa*fl abQ ue.t;'ldob:$da*n

c) {inrd adddradd iolidra*n

d) d{ abe0d ae+

SPACE FOR ROUGH WORK

19.

A
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20' The detailed report of the whole work prepared in a standard format is called

a) research b) presentation

c) thesis d) scientific paper

'r _f eJ^r xJpef'oqdi radeaaa*h, dr ddo&od ddoJ:en&dd.

a r i*J dtrian

c 3-*=j_ 3oACDDdo$q ddeacDd dtrian

. =:j ::-: n $rorarnbd d:mgn

d) dxx$Dn daolDrbd rbeoro*A

L:= : = *:: D:3oJ;O_ ,:JddadeDd dOear de.rid addand ddA oodd
2 = 

-=:'-j
'-*-'-:.r

' -^ ^-;-:*-w

2' The only metal in liquid state is

a) iron

c) calcium

dd dJoddOpd z,ode r"ocb elneddodd

a) dzgea,?)

c) raro^gbo

22. Stainless steel is so called because of its

a) High strength

b) High corrosion resistance

c) High ductility

d) Brittleness

b) d&ddaxbed
d) {q.pddgd

b) mercury

d) magnesium

b) mddi

d) abqe.ho$o

sN - 714
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23. Layer of atmosphere in which Ozone layer lies is

a) Exosphere b) Mesosphere

c) Troposphere d) Stratosphere

t doeo' dddd) qiotucr aasoddeod €r ddddO-d

a) oeqexloJ:cn b) A)draelo$cf

c) oigedpe1o$cr d) in*uine&c$d

24. One of the best solutions to get rid of non biodegradable wastes is

a) Burying b) Burning

c) Recycling d) Dumping

tladmn dJa$o$d orqOod drgdoodw.a&d *r.rrgd: Cnrtr

a) do*cd b) xbdrad

c) ddoudd d) Oor{dolroc *=*ld

25. Which state irrigates largest percentage of land ?

a) Haryana b) Uttar Pradesh

c) Maharashtra d) Punjab

-1G

dulfl doantq&eo.odorl uddat&d *%
a) doCnm

26, Which of the following is not a primary pollutant ?

a) SO,
c) Os

dr d$Jndd)ddo- o3l)d)& aDda:dmn dodd *Dodddd ordeamAo-?

c) aboam{

a) SO2

c) os

b) w$d$ded

d) doeoztr

b) Volcanic ash

d) co2

b) moeroC>sDc$ u:ae

d) co2

SPACE FOR ROUGH WORK
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27 . The earth originated

a) 4.6 billion yrs. b) 8'5 billion yrs'

c)2.6billionyrs.d)1.3billionyrs.
drotuolx er{a*c1 

B.s usoo$o" ddrrld aod
a) 4.6 oOo$F" ddrrld bod b)

c) 2.6 aoc$s" ddrrld bcd d) 1 .3 ?Coo3r6f ddrdd bod

28. The first formed photosynthetic organisms were

a) Algae b) CYanobacteria

c) Bryophytes d) Plants

d:rtsdod-edm E c3:clrod d:u1d dode dec

a) ueJ^ n) {doeaortJooJ'

c) go3toedrq d) i-"5rld;

29. The scientifically suggested reason for the extinction of dinosaurs is

a) volcanic eruPtions

b) massive storm

c) massive asteroid hit

d) massive flood

{doedodd edd,srl pedercnd:d {to;td odcaddc

a) moend>sDc$ deddra$UDd

b) roJoJ:odd cd:rts

c) rJo$oddaod errcdroo$d qioarrl cd3eq

d) qjo$oddaad 6*ui

-1 1-

SPACE FOR ROUGH WORK
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30.

noedl €i fdnd cJDdddradd ice-r?imfl tlo$r odraio{oe;- ?

Soap does not work wellwith

a) hard water

c) heavy water

a) rldio Oed:

c) qademd Ped:

Hard water contains the salts of

a) Aluminium

c) Calcium

dd$ ce& z.drleccd:d e-:deoddo

a) eru:rrue&C:o

c) aarOp:o

b) light water

d) soft water

b) dd:dmd aed;

d) d.:cb &eC.:

b) Carbon

d) lron

31.

b) 'aorne.t

d) dalea

32. INTELSAT lV telecommunication satellite has a capacity of handling

a) 1 TVchannel

b) 2 TV channels

c) 3 TV channels

d) 4 TV channels

INTELSAT lV drod ioddr eroi{dd €i ddnd oJDd md:(. r=-*-.'- 
= 
-:i3i dd;mnd ?

a) 1 TV zmder

b) 2 TV zmderddo

c) 3 TV zsaderrldc

d) 4 TV zoderddc

SPACE FOR HOUGH WORK

A
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33. Headquarters of ISRO is situated

a) Chandipur b) Chandigarh

c) Bengaluru d) Chennai

ISROC decqi d$eo.a&dd)

a) z3cGe$o b) r3oeeda'

c) coridod> d) dq,

34. Satish Dhawan space centre is situated in

a) Bengaluru b) Ahamedabad

c) Chennai d) Sriharikota

i€ev ddo" dexn doulo.a&d)eb

a) aSoddo& b) udabew,rror

c) dq,r d) gedodoet^n

35. Remote sensing includes gathering of

a) lmages

b) Changes

c) Movements

d) Sounds

odo er,f dqon' * ddndq$4nc1i b$d d

a) cgdqt)

b) z^:dod#ddo

c) aJe":dddc

d) dudd)

-13- sN - 714
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36. Landsat program began in

a) 1972 b) 200s

c) 1982 d) 1992

en, ocf xn, uf dB *rg o ag do$aa dct"

a) 1972 b) 2m3

c) 1982 d) 1992

37. To join the internet, the computer has to be connected to a

a) internet architecture board

b) internet society

c) internet service provider

d) none of the mentioned

-14. ilililililrilrillllilllillrillllr

j' eodcneoe; ioddi-d*doddr doodqr deadc:o$dq6* E*ni .ndCd.
doeBizJeo/sdd I
a) "aot^iddur strgSd,o utoea"r

b) .aot^loilur {DttJ

c) non^lddur iarxn dsddd
d) €l abeed Cndcb ere.:-

38. lnternet works on

a) Packet switching

c) Both a) and b)

eroddaoe.r doddr { aa o$ r&dr bxbdd:

a) qEuf ,l*?^3onr

c) a) ** ol addn

b) Circuit switching

d) None of the mentioned

b) idourus" fua3on{'

d) €{ ubeOd o$Sdn ee.r-

SPACE FOR ROUGH WORK

A
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39. Drug is

a) produced by endocrine glands

b) produced by exocrine glands

c) are secreted through pituitary gland

d) externally adrninistered chemical substances

Bddd)

a) aodoedro" $oqor:od eruoddCrDr{{d

b) aeqe{roc $oQoulod eruoddc3:)ilgd

c) &[^Dduo $oQouroC dJod i,e-*Ed

d) ro{de- dxec$id d-..:r(d isJro>od

40, Lakes and forests are best classified as examples of

a) artificial ecosYstem

b) naturalecosYstem

c) naturalbiosPhere

d) artificial biosPhere

dr ddnd e,ugub dnreddeod* ddoedd abQ odcrldc ded{d

-15- sN - 714

a)

b)

c)

d)

d,dd dodd drd{

{dnrd dodd drd{

{dnrd dedde.roir

drdd deddercl:

SPACE FOR ROUG}I WORK

A

/
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PART_ B

S?trod - ?)

All questions are compulsory.

aen d,sil$dGao$..aJ.t @

41. Photovoltaic energy is the conversion of sunlight into

a) chemicalenergy

c) electricity

(2x15=30)

b) biogas

d) geothermalenergy

doojrrd zJd* dBe

a) d;oo$Od dg

c) Dqqs_

42. The outermost layer of the earth is

a) Magma

c) Crust

zJoa:of: edrod drodnd a3:eoddd;

a) dqq
c) gq

43. LED stands for

a) Laser Emitting Diode

c) Light Emitting Device

LED oodd

a) Laser Emitting Diode

c) Light Emitting Device

rliltiltIilililtiltililtilililt

uioedBenpr:r dso$ER d>drd:dd{ * Edndod dedorbdd9J -o --- ---v- u .-o

b) €ad er&e;d dr

d) dCraefrubrer da
j

b) Mantle

d) Solid iron core

b) dDdot^ts'

d) :ogar acddf doeo'

b) Light Emitting Diode

d) Laser Emitting Device

b) Light Emitting Diode

d) Laser Emitting Device

SPACE FOR ROUGH WORK

A



O{off, aLr:tuJr", eJogg{ruf aozud) "add "adooo* drad

a) dfrnrd u&e.:

c) duSgeer

45. BTU is measurement of

a) Volume

c) Area

BTU ao?,;:d: "adC e$go$ d>dCond

a) mg

c) O&eeor

46. Non conventional energy sources are

a) biomass, solar, wind

b) nuclear, coal, petrol

c) thermal, nuclear, diesel

d) allthe above

uiqi at or:d dE o$ d:ne.rdd.:

a) {,cd qidroo$, dnodrr, nrs

b) dddnea:, dO*du:, duigeer

c) e.ud, dddnrar, Beder

d) d:eed ae-r_

Itilltlllilililrililil!iltiltil

44. Lignite, bituminous, anthracite is the variety of

a) naturalgas

c) petrol

-17- sN - 714

b) wind

d) coal

b) roe

d) dodq:
' aao

b) Temperature

d) Pressure

enu'r-1d

a*dd
-o

b)

d)

SPACE FOR ROUGH WORK

A
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47. Match the correct Pair.

A) lndian nuclear Programme

B) Green revolution

C) lndian monsoon model

D) White revolution

a) A-2, B-3, C-4, D-1

c) A-1, B-3, C-4,D-2

doofnd doeao$dybEr:r.
A) updaeo$ dddraru Coeagd

B) d,$&gos
C) qnd8eoJ: dlorrod: dndo
D) doedqloe

a) A-2, B-3, C-4, D-1

c) A-1, B-3, C-4,D-2

48. and

1. M. S. Swaminathan

2. Vasant Gowarikar

3. HomiJ Bhabha

4. Kurien Varghese

b) A-4, B-2,C-1, D-3

d) A-3, B-1, c-2, D-4

1. ao. cxr. Ea.i0)oadC

2. ddoo rlaoedo

3. doeod. t,rleo

4. *oo$or dnerx"

b) A-4, B-2, C-1, D-3

d) A-3, B-1, C-2, D4

are two major discoveries of 15h century which

led to expansion of white colonies outside Europe.

a) Mariners compass and telescoPe

b) Spinning machine and telescoPe

c) Gun powder and steam engine

d) Noneoftheabove

15 de dddDdd add: ddr$ u{edddqDd- $dl 

- 

cr:doe.ld

drD drl s)qo$ dna dd:rld ?,Jddd rlrl a d mam oi:d:.

a) oaadd odro^,zs d>e dradddrd oJ:09

b) doerd oJrog ab* drodddrd oSo9

c) ,trad:d1 d;Q wn oJro9

SPACE FOR ROUGH WORK
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49. Match the correct pair.

Diseases Gar"s
A) Typhoid 1. Pneumococcus

B) Tuberculosis 2. HIV

C) AIDS 3. Mycobacterium

D) Pneumonia 4. Salmonella Vphi
a) A-4, B-3, C-2, D-1

b) A-3, B-2, C-4, D-1

c) A-2, B-4, C-1, D-3

d) A-1, B-3, C-4,D-2

doo:n d Co e ao$d1 rbg rx,.

rooS)eJrl$b radmzlqb

A) ad$ aed r*d 1. d"rdredoeds"

B) d"og doerl 2. azfaca

C) eq 3. dSd.eezmrfleocbo

D) rgd8nedd eruoC:od 4. ;;aerd,ed*_ u{,e

a) A-4, B-3, C-2, D-1

b) A-3, B-2,C-4,D-1

c) A-2, B-4, C-1, D-3

d) A-1, B-3, C-4,D-2

50. Name the MOEFCC campaign for land use science or Forest plus.

a) Good Wood b) Wood Good

c) Wood is Good d) Good Earth

MoEFcc ae-cd#cr, {*qpd dJo udd drQ road d{da*n uddrtood ddoad:
a) rbar $a's b) d6s" rbcf
c) dlar 6rsr fpef d\ rbm eecr

SPACE FOR ROUGH WORK

A



I ililililil lil lllll llll llll llllsN - 714

51. Union Environment ministry approved projects for climate change in which

States ?

a) Rajasthan

c) Manipur

dOid z.do*Od dz-:aoe.ro3:$ daadnd udod#o$ o1,t:r.:oi:d: * Ednd oiDd

o-crraa*A erd:do e a,q, d ?

b) Gujarat

d) Both a) and b)

b) draloae

d) a) drd3b) ado

b) immunizatbn

d) noneoftheabotre

52. The process of introduction of weakened pathogen into a hunran body is called

a) oarsa;r

c) ubeddd

a) vaccination

c) attenuation

a)

c)

d:u r s E e so ea:rldq d>d>{ d d e dd* i e oi,-:d dg 
"1, 

*-' ;:. :* I : c 
= 

: 
= = r;g d'

mrltedNf

erufld:ro3:edo"

b) qdloddFe#

d) &eOi 3==.1? :--"1

Pradhan MantriAwaas Yojana of Government of lndia, is rrea'r:'cr

a) child development

b) house for individual

c) skilldevelopment

d) noneoftheabove

qlEdd drardd dOodd:o$ uaan" Coexdalr: & ddn- 3J: { ;i DCoexdCnnd ?

a) d:d*d er?P{,%

b) d.9Croa; oadododrD $d
c) fade.rr.:q)C%

d) & &e0d oJn{do ere.r-

SPACE FOR ROUGH WORK
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54- Whifi of t1e follorring States in lndia ranks first in the instatlation of wind power ?

a) Guprat

b) An&taPnaGh

c) irlaharasfrtra

d) Tanil Nadu

ffi dEod, ud:qdd dDd)do_ qnddd d* tdnd oJDd on%d dodoso$mnd ?

a) rlxoaef

b) uo$$ded

c) abmaoa{

d) dtusbod

55' The observed increase in the average temperature of the air nearearths surface
and oceans in recent decades

a) environmentchange

b) globalwarming

c) health change

d) noneofthese

"a€easd dddddo_ ziezu*: $a idD{d abeed aool:: oddndd dmdo ddg{
aodea

a) doddudmd#

b) mdedoddndd?-J,.d

c) sdoer$ udod#
d) d{ d:eOd oJ>{do ero_

SPACE FOR ROUGH WORK

A


